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1D pull distribution
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reg_asym_us_avg RMS (ppm)
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1D pull distribution
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reg_asym_usr RMS (ppm)
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reg_asym_us_dd RMS (ppm)

(wdd) s

a1%14
€EISY
¢'eIsy
TETsy
0'€ISy
v'eisy
€CISy
¢eisy
Tcisy
0¢iSy
V'TISY
€TISY
¢'TISY
TTiSY
0'TISY
7'01SY
€015y
¢01sY
T01SY
0'0TSY
¥'60SY
€605
2’605y
T'60Sy
0'60SY
¥'80GY
€805y
2'80SY
T'80SY
0'80SY
¥'L0Sy
€',0Sy
2¢'L0Sy
T'L0SY
0',0Sy
¥'90SY
€905y
2'90SY
T'90S7
0'90SY
€'90G7
2¢'S0SYy
T'50S7
0S50Sy
'v0Sy
€'v0Sy
2'v0Sy
T'v0Sy
0'v0SY
7'€0SY
£'€0Sy
¢'€0Sy
T'€0Sy
0'€0Sy



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10


